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(#6-1) For the following determine the number of molecules

LTty 5 AC2Y
1. 9.8 moles of O, Ct% ""_"—'
2. Smolesof O & g . b-022€23
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(#6-1) For the following determiné the amount of moles

3. 23x10 2 moleculesof H: 2 2 £ (2- -l:_(;'-l_é_‘z} 3R E -Y L

4. 3.2 x 102 molecules of CoHy '5.2,67_8 > mg T O, s 5

(#6-1) For the following determine the Formula Weight (in grams/mole)

5. H» w"‘w
6. NaOH qul md

\(#6 1) For the following determine the mass (in grams)

(\51511“3 7. 5.3 moles of O, 6‘3.“‘1 % = Ouog

FCLDS 8. 452moles Fe;05 (2 - -_y l‘sijﬁ 7lq0

(#6-1) For the following determine the amount of oles found in each mass

9. 22 grams of O; 225 ._z;:__, - OJ_;,S?M
10. 305.6 grams of CsH1206 SOS_ Lr II /. - qu M

(#6-2) For the following determine the amount of moles usm% the following equation
N; + 2 O = 2NO:
11. If one used 6 moles of O, how many moles of NO> would be formed?

b o= = bwud WY,

= 3.0l E24

12. If one formed 4.2 moles of NO, how many moles of N are needed? ‘! % ;vve M, _._'._.——-VL_
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(#6-2) Determine the mass(in grams) using the following equation
3 H,O,+ 4 Al — 2 ALOs + 3H,

13.  90.2 grams of Al was added to an excess of hydrogen peroxide, how much aluminum oxide was

formed? | Q 5. ‘0\q f:
0.2 7958 —5 o > 110y

In the beakers above there is a particulate representation of a beaker containing excess zinc and a solution
of hydrochloric acid. The zinc and the HCI will react according to the reaction below.

ZHCl(aq) + Zn(s) — ZnClyaq) + Hz )
7N

14. Draw the beaker after the reaction has gone to completion. o
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16. Is thereaspectatormthls reactnon" If so, what? ———/_"/_7 W
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